"2l 11/GeVv]

pT

1/o0do/d

Ratio to ATLAS

=
<
[

-
o
N

w

[HEN
o

107>

107°

[EEY

0.5

13000 GeV pp tt
'I'|'I'I'II'|'I I'|'I II'|9
-
top . . Qo
pT (ATLAS semileptonic ttbar) — 3
4=
100
—l
— Nl
=}
—
H<
o
—1 0
.=
o
o
™
— =
= m
=1
e
(49)
e
m ATLAS _'i
—— Pythia 8.308 default — 5
----- Pythia 8.308 default-CD EE
---&-- Pythia 8.308 default-DL m —c
----- A~ Pythia 8.308 default-MBR 18
)
ElE
e
] O
| | | | | | | N | I =
| T T T T | T T | T T T |:
32
B 1
—0.5
" | " 1 1 1 1 " | " 1 1 " | " 1 1 1 " |
500 1000 1500 2000



	Contents
	Page 1


